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1 206380 |©OEOAOIoY AHMHTPIOZ ME13 20,50 | 4,00 2,00 0,50 6,50 | 11,00 3,00 14,00 |ANATOAIKHZ ©EZ/NIKHZ
2 166619 [AAATZOIAOY AGANAZIOZ ME11 19,00 | 4,00 0,50 | 0,50 5,00 | 11,00 3,00 14,00 | XAAKIAIKHZ
3 157704 |IATATANTZIAHY IOANNHZ ME13 18,50 2,50 2,00 4,50 | 11,00 3,00 14,00 |AYTIKHZ OEX/NIKHZ
4 161892 |MMOYAAKHZ FEQPriOx ME04.01| 18,50 | 4,00 0,50 4,50 | 11,00 3,00 14,00 |XEPPQN
5 172599 |PQZZIOY AIKATEPINH ME19 18,50 | 4,00 0,50 4,50 | 11,00 3,00 14,00
6 180306 |[TOKMAKIAHZ ANAZTAZIOZ MEO3 | 18,50 | 4,00 0,50 1,00 | 0,25 5,75 9,75 3,00 12,75 |AYTIKHZ OEX/NIKHZ
7 161443 _%;:\QEETJEA_?ZL- KQNZTANTIA Me15 18,00 2,50 0,50 1,00 4,00 | 11,00 3,00 14,00
8 182356 |TAMOYTZIAHZ ANE=ANAPOX ME11 17,50 2,50 0,50 | 0,50 3,50 | 11,00 3,00 14,00
9 159794 [IQAKEIMIAHZ AHMHTPIOZ MEO3 | 15,50 0,50 0,50 | 11,00 3,00 1,00 [ 15,00
10 | 159711 |[AOGANAZOMOYAOZ |(KONITANTINOZ MEO3 14,50 0,50 0,50 | 11,00 3,00 14,00
11 | 186351 |[=OYAIAQY ZTAYPOYAA MEO1 5,25 0,50 0,50 4,75 4,75 |ANATOAIKHZ ©EZ/NIKHX
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0O MNpoedpog Tou Mepipepeiakol ZupBouliou EmiAoyng
AieuBuvtwv MN.E. kai A.E. Kevrpikiig Makedoviag
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